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Q.1. The height of a triangular garden is 55m and base is 90m. Find the

| 4th Month, 2nd Week, 5th Day |

¥ Answer the following questions:

number of flowers in the garden if 20 flowers are in the area of each

square metre. (1x5=5)
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320545

Q.2. A trapezium has a longer base that is 25cm and the height is Scm. The

area of trapezium is 200cm2. What is the shorter base of the

trapezium? (1x5=5)
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Q.1. The height of a triangular garden is S5m and base is 90m. Find the

| 4th Month, 2nd Week, 5th Day |

W Answer the following questions:

number of flowers in the garden if 20 flowers are in the area of each

square metre. (1x5=5)
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Q.2. A trapezium has a longer base that is 25cm and the height is Sem. The
area of trapezium is 200cm2. What is the shorter base of the
trapezium? (1x5=5)
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Q.1. The height of a triangular garden is 55Sm and base is 90m. Find the

| 4th Month, 2nd Week, 5th Day |

W Answer the following questions:

number of flowers in the garden if 20 flowers are in the area of each

square metre. (1x5=5)
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Q.2. A trapezium has a longer base that is 25cm and the height is Scm. The

area of trapezium is 200cm2. What is the shorter base of the

trapezium? (1x5=5)
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Q.1. The height of a triangular garden is 55m and base is 90m. Find the

| 4th Month, 2nd Week, 5th Day |

% Answer the following questions:

number of flowers in the garden if 20 flowers are in the area of each

square metre. (1x5=5)
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Q.2. A trapezium has a longer base that is 25cm and the height is Scm. The
area of trapezium is 200cm2. What is the shorter base of the
trapezium? (1x5=5)
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